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—.Solve the following differential equations (Note: y' = Z—i’, "= 2732’):

(4 x 15% > 3 60%)

dy _ ycosx _
1. a = 1422 y(O) =1

2. Bxy+y)) + (x? +xy)y' =0

3. y" =3y — 4y = —8el cos 2t

’ 124 5 It
4. y® —y = ym)=§,y®)=—%)’m)=5,y (0) = -2

—. Given that: (20%)

7 0 -3
A=|-9 -2 3
18 0 -8

Find the eigenvalues and eigenvectors of A.

=.Given L[y'] =sY(s) — y(0) and LIy"] = s?Y(s) — sy(0) ~ y'(0), solve the

following initial value problem using the Laplace Transform: (20%)

y"'(©) = y'(t) — 2y(t) = sin 3¢ y0) =1 y'(0)=-1



